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1 —ﬁradwm & 1radian = -

1. sin0 + cos?6 =1
2. 1+ tan?0 = sec?6
3. 1+ cot?0 = csc?6
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sin & csc +ve all + ve
II-Quad. |I-Quad.+
) lI-Quad. |IV-Quad. ]
tan & cot + ve cos & sec +ve

<
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1. sin3a = 3sina — 4sina
2. cos3a = 4cos3a — 3 cosa

3tana—tan3a
3. tan 3« >
1-3tan“a

1. 2sina cos B = sin(a + B) + sin(a — B)
2.2 cosasinf = sin(a + B) — sin(a — B)
3.2cosacos B = cos(a + B) + cos(a — B)
4.-2sinasinfB = cos(a + B) — cos(a — B)

5.5in P + sin Q = 2 sin =2 cos P;Q
6.sin P —sinQ = 2 cos P:Q sin P;Q
7.cosP +cosQ =2 cos%cos%
8.cosP — cosQ = —2sin P:Q sin P;Q

y=sinx || —oo < x < 400 —-1<y<1
0 0° 30;;_/ 4'51; 60:[/ 9O;J y=cosx|| —oco < x < 40 -1<y<1
A B B e
; 3 y =tanx @2n+1)m —o<{y< +®
0 2 ||/ 1
sin V2 /2 x #
V3 1 1 —00 < x <+
cos 1 /2 /\/E /2 0 y = cotx X = en+)m —0<y< F©
1 2
tan ([ O /ﬁ 1 V3 00‘ —00 < x < +00
y = secx y=lory<-1
X # Nm
: : : —00o < x <+
1. sin(a + B) = sinacosf + cosasinf y = cscx X % nm yzlorys-1

2. sin(a — B) = sinacosff — cosasinf
3. cos(a + ) =cosacosf —sinasinf
4. cos(e — B) = cosacosf + sinasinf

tana+tanf

l1-tanatanf
tana—tanf

5 tan(a + B) =

6. tan(a — B) =

14+tan a tan

1Al o|Y

1. sin2a = 2sina cosa
cos’a — sin*a
2. cos2a =12cos’a — 1
1 — 2sin‘a

3. tan 2a = 2tana

1-tana

wheren e z.

[ [rercoaop Trigonomeeric Bunceiong| |
[ Function ||  period |

sina @

cosaf

cscaf

secaf

tana 6

cota @




a b c

sina sinf siny

1. a’? = b?> 4+ c? — 2bccos

2. b? =
3. ¢ =

c?+a*—2cacosp
a? + b? — 2ab cosy

= tan(25)
“a+b tan(%ﬁ)
5 b=c _ tan(22Y)
" b+c tan(@)
3 ¢ _ tan(y;—a
" cta tan(wzr—“)

1.sin% = [8226=9
) 2 bc

5 sinf - [c=96-0)
) ca

3.sinl = [L220OD)
) 2 ab

4. cos = [
) bc

5. cosbE = [2E7D)
’ ca

6. cosl = |29
) 2 ab

7. tan% = 82269
) 2 s(s—a)

8. tan’ = L6~
) 2 s(s—b)

9. tanl = [E-2ED)
) 2 s(s—c)

1 . 1 . 1 .
1. A= Ebcsma =5casmﬂ =5absmy

2. A= a?sinBsiny _ b?sinysina _ c¢?sinasinp
e 2sina o 2sinf o 2siny
3. A= \/s(s —a)(s—b)(s—c)
a+b+c
where s =——79#—

. a b
_ZSina_ZSinB_ZSiny
abc
2.R =—
4A

A A A

7"1: T'2=—T‘3=
’ s—b’ s—cC

S—a

sin"?A+sin"! B =sin"1(4yV1 — B2 + B\/1 — A2?)
sin"! A —sin™* B = sin"1(4y/1 — B2 4+ By/1 — A2)
cos ' A+ cos™1B = cos™1 (4B — /(1 — A2)(1 — B2))
cos™ A —cos™1B = cos™1(4AB ++/(1 — 42)(1 — B2))

tan"!A+tan"1B = tan"l(Ai)
a 1—AB
tan"!A—tan 1B = tan"l(A;B)
1+ AB
2tan" 1A = tan‘l(i)
a 1— A2

] 1T< <11' 1<y<1
= sinx ——<x<— -1<y<
y 2 2 y
i i3
y=sinlx || -1<y<1 ——<x<—-
2 2
Yy = cosx 0<x<m -1<y<1
y=coslx|| -1<y<1 0<x<m
t 1T< <1‘t R
= tanx ——<x<=
Y 2 2
. i i
y=tan " x R ——<x<5
y = cotx O<x<m R
y=cotlx R O<x<m
i3
y = secx [O,n],x;ti y<—-lory=1
i3
y=seclx||x<-1orx=>1 [O,n],y;ti
=Ccscx [—E E]x;tO <-lory=>1
y_ zlzr y= y=
1 T T
y=c¢sc " x ||x<-1lorx=1 [—E,E],y;to
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